
[ Runtime Estimation for Multi-core Processor ] 
Case Study of Exynos 4412  

Team – O   OO
            (O O O / MO O O / O O O)

Professor – O O O
Assistant – O O O 

 

𝑃𝐺𝑃𝑈 = 𝛽𝑖 × 𝐺𝑃𝑈𝑈𝑡𝑖𝑙𝑖𝑧𝑎𝑡𝑖𝑜𝑛 + 𝐵𝑎𝑠𝑒𝑃𝑜𝑤𝑒𝑟𝑖
max_𝑓𝑟𝑒𝑞

𝑖=min_𝑓𝑟𝑒𝑞
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𝑃𝑀𝑒𝑚𝑜𝑟𝑦 = 𝛽𝐵𝑢𝑠𝑈𝑡𝑖𝑙 × 𝐵𝑢𝑠𝑈𝑡𝑖𝑙𝑖𝑧𝑎𝑡𝑖𝑜𝑛 

𝑃𝑂𝑝𝑒𝑟𝑎𝑡𝑖𝑜𝑛
𝑖 = 𝛽𝐼𝑛𝑠𝑡 ×𝑁𝑢𝑚𝐼𝑛𝑠𝑡𝑟𝑢𝑐𝑡𝑖𝑜𝑛 + 𝛽𝐶𝑙𝑜𝑐𝑘 × 𝐶𝑃𝑈𝐶𝑙𝑜𝑐𝑘

2 

     𝑖 = 𝑁𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝐶𝑜𝑟𝑒𝑠  

𝑃𝐷𝐶𝑎𝑐ℎ𝑒
𝑖 = 𝛽𝐷𝑎𝑐𝑐𝑒𝑠𝑠 × 𝐷𝐶𝑎𝑐ℎ𝑒𝐴𝑐𝑐𝑒𝑠𝑠 

    𝑖 = 𝑁𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝐶𝑜𝑟𝑒𝑠  

𝐹𝑎𝑖𝑙𝑢𝑟𝑒 𝑡𝑜 𝑜𝑏𝑡𝑎𝑖𝑛 𝑑𝑎𝑡𝑎 𝑎𝑏𝑜𝑢𝑡 𝐿2 𝐶𝑎𝑐ℎ𝑒 

𝑃𝐶𝑃𝑈 =  𝑃𝑂𝑝𝑒𝑟𝑎𝑡𝑖𝑜𝑛
𝑖  + 𝑃𝐷𝐶𝑎𝑐ℎ𝑒

𝑖  
𝑁𝑢𝑚𝐶𝑜𝑟𝑒𝑠

𝑖=1
+ 𝑃𝑀𝑒𝑚𝑜𝑟𝑦 


